Name Ka \6 Date '61’0'\7\1/ CHecksS Period

I Mec. }QER-
PCPAP TEST: Chapter 1.1-2.2 2015 No Calculator 509, 507
Part I: Multiple Choice. Put the CAPITAL letter in each blank to the left of the problem number.
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The graph of g(x)is given above. Use the graph to answer questions 1-4.
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D 5. The function f (x) = x(x+5)(x—7)(2x+l)(3x—2) has a non—rcmoxable infinite discontinuity at
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-3 Sepon 2
0m o e HIHT 4,
X ’z 7-X¢s wa(kg,
x* 3 (e xhbraneons Soln)

Iy -
E- 7. Expand and simplify the following: (2%/;— 3x)(iz+5x2j (D( 39(‘& +Sx> 8x /,,uo; 'ﬂzx'ﬁ;
X </ j&— HOE - E -5

12
(A) —— S oy —15x3 (B) —— +310x7 ——=—15x° (C) —— 8 103 +12x— 154
e’ \/x X \/x
(D) & w430y 1215y +10%/x7 +15x
X

(E) \/—

. LufLem -
D . . 3xy2 +2x7" y_2 _ BM; :_ = g_wj__’ig
L~ 8. Simplify: iy 1 201y = _’_5{_ + :L_)%_ Xy XY+ Y
3%’y +2x 3xy’ +2x C Y +1 D) 3x’yt+2 m
3x’y+2y° 3x% +2xp° X+ y 3x’y+2y° 3xy’ +2y°

5 x-3
—t X o\, 4
. . r x—1 - 1
9. The domain of the complex fraction B(x)=-——1is D =

3 B
- X—/><—i¢0/)<“"7£°/><7“{

A {xx=01} B {dfxz014)  (© {Hfxzral @) {dx=013}  ® {xx=0135]




Part II: Free Response

Show all work in a logical, vertical sequence and use proper notation. Your bottom line in each problem will
be your answer. Work each problem in the space provided.

10. For the following functions, f(x) =3-249-3x, g(x)=vx+18, h(x)=x*+x—-30 answer the

following questions.

(a) Set up and simplify the equation for the function P(x) = g(h(x)) , and then find the domain. Show the

work that leads to your answer. Give your domain in either proper set or interval notation.

fid= (hed)

% , and then find the domain of R(x). Show the work
glx

that leads to your answer. Give your domain in either proper set or interval notation.

(b) Set up the equation for the function R(x)=
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(c) Set up the equation for the function J(x)= z((x; , and then find the domain of J(x). Show the work
X

that leads to your answer. Give your domain in either proper set or interval notation.
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